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1 (A) Prove the structure of Sucrose.
OR
(A) (1))Discuss muta-rotation in detail.

(i1) Prove that phenolic —OH group is associated to form glycoside bond in the
constitution of Salicin.

1 (B) write short answer of any four

(1) Give definition of carbohydrates.

(2) Define : Optical activity.

(3) Provide the reaction of Glucose with Con. HNO3?

(4) Give the Number of optical active isomers for Aldohexose.

(5) Provide structure of Indican.

(6) Which functional group is present in Fructose and how many?

2 (A) Discuss analytical evidence to prove the structure of a-Terpeneol. (14)
OR
(A) (1)Give two synthesis for Pyrimidine and Imidazole. (07)

(i1) Provide synthesis of Camphoric acid and Camphor.

2 (B) write short answer of any four

(1) Give the structure of Pyridazine and Pyrazine.

(2) Provide IUPAC name of Isoprene?

(3) Give reaction of Camphor with Iodine.

(4) Provide names of isolation methods of essential oils.

(5) Which product is obtained by reaction of acetylene with diazomethane?
(6) Give one synthesis for Thiazole..
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3 (A) Discuss analytical evidence to prove the constitution of Atropine and give synthesis of

it.
OR
(A) (i) Explain Hoffmann & reductive degradation for alkaloids.

(ii) Prove: Nicotine posses B-PyridylLN-methyl-pyrolidine type constitution.

3 (B) write short answer of any Three

(1) Define : alkaloids.

(2) Which type of alkaloids is Papaverine?

(3) Which method is used to detect presence of -OCH3 group in alkaloids?
(4) Which method is useful for presence of C-CHjs group in alkaloids?

(56) Give structure of Papaverine.

4 (A) Discuss analytical evidence to prove the structure of Cyanin chloride.
OR
(A) (@) Give analytical evidence to prove the structure of quercetin.

(i1) Give synthesis of Chrysin and Genistein.
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4 (B) write short answer of any three (03)

(1) What are plant pigments?

(2) Flavone is which type of plant pigments?

(3) Give structure of Isoflavone.

(4) Which product is obtained by reaction of Genistein with Alkoholic KOH?

(5) How many moles of Acetic anhydride is consumed for acetylation of Chrysin?



